Subject: Reweighting after merging IR and AR files
Posted by dasanchezp on Thu, 21 Apr 2022 00:12:54 GMT

View Forum Message <> Reply to Message

Hello,

| want to compute ASFR and TFR by HIV status but | have problems with the weighting. For
instance, in ZW TFR is 4.02 in 2015 (using IR file and v005). However, if | merge the IR and AR
files, and then compute TFR (using hv005), TFR is 3.97, which is logical since the sample is
smaller. How can | reweight vOO5 or hv005 so | can get TFR=4.02 from the merged file?

Thanks!
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